FOR INFORMATION ONLY !

E-valve: Page 5,6 B-valve: Page 7,8

Filter orientation until approx. 05-2021

1372012

Page 1

A-valve: Page 9,10

1371029 : STANDARD Cylinder

71371030 : STANDARD Cylinder

7371031: STANDARD Cylinder

7157005

71157005

7371044 - HD (HEAVY DUTY) Cylinder (OPTIONAL)

7371045 : HD (HEAVY DUTY) Cylinder (OPTIONAL)

7371046 : HD (HEAVY DUTY) Cylinder (OPTIONAL)

0 GG-C | 15-05-2025
A GG-C | 23-06-2025 Added "approx." to date of filter orientation
REV. | BY | DATE DESCRIPTION
TOLERANCES UNLESS OTHERWISE STATED. | COLOR: SIZE: |STATUS: ART. NO.:
A2 | Released |puensions: mmncr
PROJECT: MATERIAL:
Exploded views CF500 SLC SCALE: 1:7| SHEET: L
DRAWN: HO|DR. DATE:  12-10-2012
DESCRIPTION: APR. BY: ES|APR. DATE: 23-06-2025|
. TREATMENT: NONE|
Assembly drawing CATEGORY: SYSTEEM
P Byte 14 PROJECTION: | DRAWING NUMBER:
CARGO Hoon NL-7741 MK Coevorden EV50000-CF-221
Phone : +31-524-593900
HORZONTALLOADING./UNLOADINGEYSTEM E-mail : info@cargofioor.com @S DEBURR SHARP EDGES| WEIGHT:

THIS DRAWING IS THE PROPERTY OF CARGO FLOOR B.V. AND MUST NOT BE COPIED OR REPRODUCED WITHOUT THEIR WRITTEN AUTHORITY (ISO 16016:2016)




FOR INFORMATION ONLY !

£103016

5350005\/
| \

5160003
OPTIONAL

5160002
STANDARD

Page 2

5154017

5154010

0 GG-C | 15-05-2025 -

REV. | BY DATE DESCRIPTION

TOLERANCES UNLESS OTHERWISE STATED:

SIZE: |STATUS:

A2 | Released

ART. NO.:

DIMENSIONS: MM [INCH]

PROJECT:

MATERIAL:

Exploded views CF500 SLC SCALE: -| SHEET: v
DRAWN: HO|DR. DATE:  7-12-2021

DESCRIPTION: APR. BY: HO|APR. DATE: 15-05-2025|
. . . TREATMENT: NONE|
Pistonrod guidance & cylinder clamps CATEGORY: SYSTEEM

@ Byte 14 PROJECTION. | DRAWING NUMBER:
CARGO Hoon NL-7741 MK Coevorden EV50000-CF-222

HORIZONTAL LOADING-/UNLOADINGSYSTEM

Phone : +31-524-593900
E-mail : info@cargofloor.com

o

DEBURR SHARP EDGES | WEIGHT:

THIS DRAWING IS THE PROPERTY OF CARGO FLOOR B.V. AND MUST NOT BE COPIED OR REPRODUCED WITHOUT THEIR WRITTEN AUTHORITY (ISO 16016:2016)




FOR INFORMATION ONLY ! / S

Attention: 7156001

Replacement part for pipe 2,
fhis part differs from the original pipe.

70043/420

From approx. 08-2020

1372012 : Filter complete
1372011 : Filter element

71004125

Until approx. 08-2020 ////////'

1372005 : Filter element _— 10043/420

7157005

1372012 : Filter complete
1372011 : Filter element

7004120
7004120

7156061 70043/420

71155097 70043/420

7157005
70043/420

71156002
7156000 7156003

0 GG-C | 15-05-2025
A GG-C | 23-06-2025 Added "approx." to date of filter type and orientation.
REV. | BY | DATE DESCRIPTION
TOLERANCES UNLESS OTHERWISE STATED: SIZE: |STATUS: ART. NO.:
A2 | Released |puensions: mmncr
PROJECT: MATERIAL:
Exploded views CF500 SLC SCALE: | SHEET: "
DRAWN: HO|DR. DATE:  7-12-2021
DESCRIPTION: APR. BY: ES|APR. DATE: 23-06-2025|
L. . TREATMENT: NONE|
Piping & filter CATEGORY: SYSTEEM
P Byte 14 PROJECTION: | DRAWING NUMBER:
Page 3 CARGO FLOOR Somera | ey EV50000-CF-223
Phone : +31-524-593900
HORZONIALIOADSNG: AUNIOADINGSTSTEN E-mail : info@cargofioor.com DEBURR SHARP EDGES| WEIGHT:
THIS DRAWING IS THE PROPERTY OF CARGO FLOOR B.V. AND MUST NOT BE COPIED OR REPRODUCED WITHOUT THEIR WRITTEN AUTHORITY (ISO 16016:2016)




FOR INFORMATION ONLY !

7071005
,,,.@ 7071010 - until approx. 10-2023
7071004

7071005
70173/41
70183/4.1 70183/4.1
7071004 . 70173/4.1
& 501212.2

Roll pin 25x80 DIN 1481 | @@@@ Spring washer DIN127B-A12
503812100.2
Hexagon head bolt
DIN 931-M12x100 10.9

00.0@@0

7371010 : Cylinder head 1/2
7371021 : Cylinder head 3

) 0, 0@”,

/ 7376008 - complete with fastening material for 1 cylinder
7376014 - complete with fastening material for 3 cylinders

Project: Date: 21-2-2014 Drw. nr.:
— ®  Caworworsy. EXPLODED VIEWS CF500 SL-C EV50000-CF-224 | A3
Byte 14 rawn.
NL-7741 MK Coevorden L
Phone : +31-524-593900 Subject. This drawing and the information contained herein is for general presentation purposes only.
E-mail : info@cargofloor.com C / I' n d e r This drawing is not intended for use on engineering plans and can be used as "as-is". P a g e 4
y This drawing is the property of Cargo Floor B.V. and must not be copied or reproduced without their written authority.




FOR INFORMATION ONLY !

. 6305012 6305014'. /6305011 '6305014 '7154007

6305010 6305009

7370101

: \ \’\
7154011.1
Proje Date: 28-02-2019

— O ooy " EXPLODED VIEWS CF500 SLC , “EV50000-CF-227 | A3
CARGO FLOOR == w5

NL-7741 MK Coevorden
Phone : +31-524. 00

Subject:

This dra the information contained herein is for general presentation purposes only.
as "as-is".

: +31-524-5939 wing and
E-mail : info@cargofloor.com C ' This drawing is not intended fc i i /. d by d A
On t r O / Va / Ve E -Op er a t I On Thg dgng g Z;)e erc?/geriy o?rclésrgg rli'ligggé\irggdprsgsstigt gg’::o;i:; ir reprofﬂl/ied without their written authority. P q g e 5




FOR INFORMATION ONLY !

7170040
Mé DIN 127 ELVZ

Méx80 DIN 912 ELVZ

N
/r.
)

Q)

7071006

[
@ ¥z
=

5159002

Méx20 DIN 933 ELVZ

6 DIN 127 ELVZ

M

7177005

7170037 7170040

s
70171 ‘1!!”:%/ =
N 7071006
7677004 g
] 7370101
. 6305009

AN

7370107 .

7071 006/'@

6305010

Mé DIN 127 ELVZ
Méx20 DIN 933 ELVZ

7371051 \18410 DIN 931

M8 DIN 127 ELVZ

A+B+C+D=7376009

Drw. nr.:

Project:

Cargo Floor B.V.

Date: 21-2-2014
Drawn: SK

FV50000-CF-228 | A3

EXPLODED VIEWS CF500 SL-C

Byte 14

NL-7741 MK Coevorden
Phone : +31-524-593900
E-mail : info@cargofloor.com

= (ARGO FLOOR

Subject:

This drawing and the information contained herein is for general presentation purposes only.

This drawing is not intended for use on engineering plans and can be used as "as-is".
This drawing is the property of Cargo Floor B.V. and must not be copied or reproduced without their written authority.

Page 6

Control valve E-operation




FOR INFORMATION ONLY !

70171.4

8370042

7317004  |6305011  7154007|
|
6305009

B ->E: 7170041
E ->B: 7170039

7370101 7154011.1

Project: Date: 28-02-2019 Drw. nr.:
A3

w— CARGO HOOR® Cao cr EXPLODED VIEWS CF500 SLC ¢ EV50000-CF-225

NL-7741 MK Coevorden
Phone : +31-524-593900 This drawing and the information contained herein is for general presentation purposes only.

Subject:
E-mail : info@cargofloor.com C ' This drawing is not intended for use on engineering plans and can be used as "as-is".
On t r O / Va / Ve B -Op e r a t I On This drawing is the property of Cargo Floor B.V. and must not be copied or reproduced without their written authority. P q g e 7




FOR INFORMATION ONLY !

M6x20 DIN 933 ELVzé
M6 DIN 127 ELVZ

7177005
7170037

7170040

7071006
70171.4
7177007 7677004
Mé DIN 127 ELVZ 71540111
M6x80 DIN 912 ELVZ C « '\
7398008 7171103 ) T
///
M12X25 DIN 912 ELVZ «— S
Mé DIN 127 ELVZ
o./
354006 == Q, ¢ Mé6x20 DIN 933 ELVZ
7 \ AL QA
° . QO — 677 s\§$€/
ay00s : M8x10 DIN 931
. M10X16 DIN 912 ELVZ /
)
?i .- M8 DIN 127 ELVZ
o N
Mé DIN 127 ELVZ o
\o_;\/ M6X16 DIN 912 ELVZ 737105]
\\\\ 7398007
7354005 A+B+C+D=7376009
Project: Date: 28-02-2019 Drw. .
L CARGO Floon® Cargo Floor B.V. EXPL ODED V/EWS CF500 SLC Drawn: SK EVSOOOO‘CF‘QQé A3
Byte 14 .
/I-S’IIL7¢-)Z7247+A;/7<-5%T;Z;‘?;0 Subject: ., Th/:s draW/:ng {:md thg information contained .here/"n is for general presentation p,f/rpqs,?s only.
Emal - info@cargofieor.com Con t r 0/ Va / Ve B -Op e/' a tl On ;'-Zg ggng g 7/70; gfgggf c:?rCL;SrZ: gligglgé\irggdp/fggtizggzncg;g;ii ;SprzZZiéd without their written authority. Page 8




FOR INFORMATION ONLY !

70171.4

8370045

> E: 7170041
-> B: 7170039

7370101 7154011.1

Drw. nr.:

Project: Date: 28-02-2019 A 3
w— @ cogorworsy EXPLODED VIEWS CF500 SLC ¢ EV50000-CF-238
Byte 14 rawin.
g,L,-774'1 MK Coevorden Subject: ] ] ] ] ] o ]
one . f.’; 1 2@524-59;900 B} ;Z/s Zrawmg and tthe t/nfc;rn;a;/on contained herein is 7or genzra/ przsentagon purposes only. P 9
E-mail : info@cargofloor.com is drawing is not intended for use on engineering plans and can be used as "as-is".
7 COn t r O / Va / Ve A -Op er a t I On This drawing is the property of Cargo F/oof'] B.V. agdpmust not be copied or reproduced without their written authority. q g e




FOR INFORMATION ONLY !

7
//(,, -~
<

Méx20 DIN 933 ELVZ

Mé DIN 127

Mé DIN 127 ELVZ

Méx80 DIN 912 ELVZ

7398008
7171103

M12X25
DIN 912 ELVZ

7354006

5159002

ELVZ
7177005

70171.4

7317004

Mé DIN 127 ELVZ
MéX25 DIN 912 ELVZ

7170037

7170040

%ﬁ/@’\
w 7071006

=

7154011.1

7370101

\(@‘/7317001

@\/\>“/M6 DIN 127 ELVZ

% 6% §§/Méxzo DIN 933 ELVZ
% /MS x 10 DIN 933

M8 DIN 127 ELVZ

<
\—\\—' 7398007 7371051
7354005 A+B+C+D=7376009
Froject: Date: 28-02-2019 Drw. .
L CARGO FIOOR@ Cargo Floor B.V. EXPL ODED V/EWS CF500 SLC Drawn: SK EVSOOOO_C F_239 A3
Byte 14 .
gf%ﬁ?cﬂgf-%ﬁ;g%?;O Subject: ) Th/:s draW/:ng {:md thg information contained .here/"n is for general presentation p,f/rpqs,fes only.
mal nfo@cargofioor.com Con t r 0 / Va / Ve A -Op er a t / On ;'-Zg ngg g ?hoé gfgggﬂ c:?rCL;SrZ: r}/{;gglgé‘irggdpﬁg;igzzgzr;é);;l; 6;; raesprzfiz‘ze'd without their written authority. P a g e 1 0




CARGO FLOOR - EXPLODED VIEWS CF500 SLC

8-7-2025

# BENAMING OMNUCAHUE
4103010 Kunststofkam 7/112 H32mm (wit) lMnacTvkoBas onopHas nnactuHa 7/112 Beicota 32 mm (6enas)
4103016 Kunststofkam kick down 7/112 H32 (blauw) MnacTukoBbIv rpebeHb Ans nofwmnHukos 7/112 H.32 (cuHuin)
5153004 Klembeugel (3-voudig) compleet 3axunMHas nnactuHa (TpoviHas) B cbope
5154010 Klembeugel cilinder (94mm) compleet 3axnMmHas nnactuHa Ans rugpoumnuHapa (294mm) B cbope
5154011 Klembeugel cilindermof (g74mm) compleet 3aXxnMMHasa nnacTuHa ANs rmnb3bl rmapoumnuHapa (s74mv) B coope
5159002 Afstandsring rond 30 mm (omschakelventiel) [ncTaHumoHHoe KonbLo kpyrioe 30 mm (KnanaH-nepeknoyarens)
5160002 Cilinderstanggeleidingsset compleet (CF300 / CF500) KomnnekT HanpaBnsaoLwmx KpOHWTENHOB Ans 3 wTokoB uunuHapos (CF300/CF500)
5160003 Cilinderstanggeleidingsset CF300/CF500/CF600 compleet, massieve uitvoering KomnnekT HanpasnsaoLwmx KpoHLWTeHoB Ans 3 wrokos uunuHgpos CF300/CF500/CF600
5350005 Montagestrip (6x M12/240 mm) MoHTaxHas nnaHka (6 x M12/240mm)
6305009 Magneet + stift 24V Cargo Floor (GS02) (inc. rode noodbediening) KapTtpuax + coneHoug 24 V. Cargo Floor (GS02) (Bkr. KpaCHbIN aBapuUiHbIA KOHTPOIb)
6305010 Magneet + stift 24V Cargo Floor (G02) KapTtpugx + coneHoug 24 V. Cargo Floor (G02)
6305011 Stift Cargo Floor (GS02) Kaptpuax Cargo Floor (GS02)
6305012 Stift Cargo Floor (G02) KapTpuax Cargo Floor (G02)
6305014 Magneet Cargo Floor G(+GS)02 24V ConeHoug Cargo Floor G(+GS)02 24V
7004120 Rechte inschroefkoppeling 1" x 20 mm Mpsimasi pe3bboBas mydTta 1" x 20 Mm
7004125 Rechte inschroefkoppeling 1" x 25 mm [Mpsmas pe3bboBas mydprta 1" x 25 mm
7071004 Volgorde cilinder klep KnanaH unmnuHgpa
7071005 Veer voor volgorde cilinder klep (standaard, L.=45 mm) [MpyxunHa umnuHapa obpaTtHoro knanaHa (ctaHgaptHas, L=45 mm)
7071006 Inbus kraagplug 3/4 incl. dichting 3arnyLka %’ ¢ ynnoTHUTENbHLIM KOMbLIOM
7071010 Volgorde cilinder klepzetting (voldraad) [NopsaoK HACTPOVKK KnanaHa unnuHgpa (nonHas pesbba)
7154007 Kunststof noodhandbediening GS02 lMnacTrukoBoe aBapuiiHoe py4Hoe ynpasneHne GS02
7155097 Hydraulische leiding nr. 6 (besturingsventiel 02/SLC) "'mapasnuyeckun Tpybosoa Ne6 (perynvpytowmi knanad 02/SLC)
7156000 Hydraulische leiding nr. 1 (besturingsventiel 02) compleet 'vopasnuyeckuit Tpybosog Ne1 (perynupytowmin knanad 02) B cbope
7156001 Hydraulische leiding nr. 2 (besturingsventiel 02) compleet "'mapasnuyeckut Tpybosoa Ne2 (perynupytowmi knanaH 02) B c6ope
7156002 Hydraulische leiding nr. 3 (besturingsventiel 02) compleet 'vopasnuyeckuit Tpybosog Ne3 (perynupytowmin knanad 02) B cbope
7156003 Hydraulische leiding nr. 4 (besturingsventiel 02) compleet "'mapasnuyeckuit Tpybosoa Ned (perynupytowmi knanaH 02) B c6ope
7156009 Hydraulische leiding nr. 5 (besturingsventiel 02) compleet 'vopasnuyeckuit Tpybosog Ne5 (perynupytowmin knanad 02) B c6ope
7156061 Hydraulische leiding 5 (besturingsventiel 02), gedraaid filter 'vppasnuyeckas Tpyba Ne. 1 (ynpasnsowwmii knanad 02), BpallaroLmincs ounbtp
7157005 Common rail A compleet O6Lwas maructpanb A (B cbope)
7170037 Voorstuur omschakelplunjer L.= 306 mm. / D.= 16 mm compleet MnyHxepHbI nepekntodatens L.= 306 mm / D.= 16 mm B cbope
7170039 Ombouwset besturingsventiel E->B inclusief arretering Komnnekt Ana mogudukaumu perynupytoLlero knanaHa E->B ¢ doukcatopom
7170040 Deksel Bedienplunjer besturingsventiel 02 compleet ["onoBka anst kopnyca nnyHxepa paboyero perynupytoulero knanaHa 02 (B cbope)
7170041 Ombouwset besturingsventiel B->E KomnnekT Ana mogudukaumu perynupytoLero knanaHa B->E
7170043 Deksel Omschakelplunjer besturingsventiel 02 compleet Kpbillka ansi nepeknoyaoLero nopLiHsa perynupytottero knanada 02 (B koMmnnekre)
7170044 Deksel bedienplunjer besturingsventiel 02 (arretering) compleet "onoBka Ans kopnyca nnyHxepa paboyero perynvpytouiero knanaHa 02 (ctonop) (B cbope)
7171103 Bronzen bus (B-bediening) incl. afstrijker MoglwwunHukoBas 6poHsa (B-ynpasnexue)
7177005 Plunjer omschakel L.= 146 mm / D.= 35 mm compleet MnyHxepHbI nepekntoyatens L.=146 mm / D.= 35 mm B c6ope
7177007 Koppelstang B-bediening 16 (M10/M12) compleet CoepguHuTenbHas Tara B-ynpaenenns 16 (M10/M12) B cbope
7317001 A-plug 3arnywka A
7317004 Plug G02 t.b.v. B-bediening LWrencens G02 gnsa B-ynpaBnexus
7354005 Handvat (rubber) Pyuka (pe3unHoBas)
7354006 Stalen dop 70x70 mm CranbHas Kpblwka 70x70 mm
7370017 Besturingsventiel 02 E-bediend (compleet) Perynupytowmin knanad 02 ¢ E-ynpaBneHvemM (B KOMMIEKTE)
7370101 Drukstift drukbegrenzingsventiel KapTpuax knanaHa perynvpoBkv AaBIEHNS
7370107 Drossel 6.5 mm (besturingsventiel 02) [poccenb 6.5 mm (perynvpytowmi knanax 02)
7371010 Cilinderdeksel nr.1/ 2 (alu.) incl. afdichtingen en klep "onoeka umnuHgpa Ne 1/ 2 (antom.) BK. yNNOTHEHUS U KnanaH
7371021 Cilinderdeksel nr. 3 (alu.) incl. afdichtingen 'onoBka umnuHgpa Ne 3 (anoM.) BKi. yNnoTHEHUs
7371029 Hydraulische cilinder CF500 SL-C nr. 1 inclusief bevestigingsmateriaal. <BR>Belangrijk: doe [I'vapasnuyeckuii unnusap CF500 SL-C Ne1 ¢ KpenexHbiM MaTepuanomM
7371030 Hydraulische cilinder CF500 SL-C nr. 2 inclusief bevestigingsmateriaal. <BR>Belangrijk: doe [l'vapasnuyeckun umnungp CF500 SL-C Ne2 ¢ kpenexxHbiM MaTepuanom
7371031 Hydraulische cilinder CF500 SL-C nr. 3 inclusief bevestigingsmateriaal. <BR>Belangrijk: doe [I'vapasnuyeckuii unnuHap CF500 SL-C Ne3 ¢ kpenexHbIM MaTepuanomM




7371044

Hydraulische cilinder CF500 SL-C nr. 1 HD inclusief bevestigingsmateriaal. <BR>Belangrijk:

"'mapasnuyeckunii uunuigp CF500 SLC Ne1 HD ¢ kpenexHbiM maTepuanom

7371045 Hydraulische cilinder CF500 SL-C nr. 2 HD inclusief bevestigingsmateriaal. <BR>Belangrijk: Jrvapasnuyeckun umnungp CF500 SLC Ne2 HD c kpenexHbiM maTepuanom
7371046 Hydraulische cilinder CF500 SL-C nr. 3 HD inclusief bevestigingsmateriaal. <BR>Belangrijk: [I'vapasnvyeckuii unnusgp CF500 SLC Ne3 HD c kpenexHbiM MmaTepvanom
7371051 Beschermkap besturingsventiel 02 (compleet) Kpbiwka ans perynupytowero knanaHa 02 (B KoMnnekre)
7372005 CF persfilterelement (04/2005 - 08/2020) PunbTpytowmn anemeHT CF (04/2005 - 08/2020)
7372011 CF persfilterelement QP (08/2020 - ...) PunbTpytowmn anemeHt CF QP (08/2020 - ...)
7372012 CF persfilterset compleet QP (08/2020 - ...) Habop dwunbTpos CF (B kommnekre) QP (08/2020 - ...)
7376003 Afdichtingset cilinder (CF500) Pemkomnnekt ynnotHutenen umnudgpa (CF500)
7376008 Afdichtingsset voor 1 cilinder (CF500SL - SL-2 & SLC) - deze set bestaat uit: Afdichtingset Komnnekt ynnotHeHu Ha 1 uunuHgpa (CF500SL - SL-2 & SLC) - aToT Habop cocTouT ma3:
7376009 Afdichtingset besturingsventiel 02 compleet [MoNHbLIM PEMKOMMNEKT YNIOTHUTENEN AN perynupytowero knanada 02
7376014 Afdichtingsset voor 3 cilinders (CF500SL - SL-2 & SLC) - deze set bestaat uit: Afdichtingset |KomnnekT ynnotHenun Ha 3 umnuHigpa (CF500SL - SL-2 & SLC) - atoT Habop cocTouT n3:
7398007 Hendel oog (besturingsventiel 02) Pyuka ynpaBneHus ¢ NpoyLwmnHou (perynvpyrowmin knanad 02)
7398008 Koker met S-arretering (besturingsventiel 02) Tpyb6a ¢ S-o6pasHbiM dmkcaTopom (perynupyrowmii knanaH 02)
7677004 Bedienplunjer L.= 195 mm. / D.= 25 mm. compleet Pabouuii nnyrxep L.= 195 mm / D.= 25 MM (B komMnnekTe)
8370042 Besturingsventiel 02 B-bediend (compleet) Perynupytowmi knanad 02 ¢ B-ynpaBneHvem (B KOMMeKTe)
8370045 Besturingsventiel 02 A-bediend (compleet) Perynupytowmn knanad 02 ¢ A-ynpasneHvem (B KOMMNEKTe)
501212.2 Veerring M12 - Elvz (8.8) MpyxvHHas wawnba M12 (8,8)
503812100.2 JZeskantbout M12x100 BonT ¢ wecTturpanHow rornoskon M12x100
70043/420 Rechte inschroefkoppeling 3/4" x 20 mm. [Mpsimasi pe3bboBas mydTa 3/4" x 20 MM
70171.4 Minimess plug (0-225 Bar) 3arnywka Minimess (0-225 6ap)
70173/4.1 Kraagplug 3/4 (hol) Btynka 3/4 ons npyxuvHbl knanava (nonas)
70183/4.1 Bonded seal 3/4" (afgedraaid) PesnHomeTannuyeckoe konbLo 3/4 (MawmHHoW 06paboTku)
7154011.1 Zegeldop voor DB ventiel (rood) — spare part YNNOTHUTENbHBIV KONNaYvoK Asi NpeAoXPaHUTENIbHOro KranaHa (KpacH.) — 3anyacTb
7154011.1 Zegeldop voor DB ventiel (rood) — spare part YNNOTHUTENbHBIV KONNAYoK Afs MPeAOXPaHUTENbHOO KranaHa (KpacH.) — 3anyacTb

Wijzigingen voorbehouden. Geldigheid prijslijst gedurende het aangegeven kalenderjaar,
waarbij altijd de actuele prijs in het Cargo Floor B.V. computersysteem geldt,
het is raadzaam vooraf de actuele prijs bij Cargo Floor B.V. te checken
Prijzen: Bruto per stuk in EURO, excl. B.T.W.
Levering: af werk, volgens onze standaard leverings- en betalingsvoorwaarden
Betaling: netto, binnen 14 dagen na factuurdatum
Wijzigingen voorbehouden.

Bce nameHeHusi coxpaHeHsl. [panc-nucT AencTeBMTeneH B Te4eHne AaHHOro KaneHaapHoro roga.
[leicTBUTENbHON BCeraa SBNSeTCs NoCnefHas LeHa, ykasaHHas B KOMMbIOTEPHON CMCTEME KOMMaHUM
Cargo Floor. B cBA3u ¢ 3TUM peKoMeHAyeTCsl 3apaHee cBA3aTbes ¢ komnaHuen CF, 4ToBbl yTOUHUTL LIEHY.
LleHbl: BpyTtTo B €Bpo, 6e3 HAC.
[loctaBka: EXW, B COOTBETCTBUM C HALUVMMW CTaHAAPTHBIMM YCIIOBUSIMU ONnaThl 1 OCTaBKU
Onnara: HeTTo, B TeyeHne 14 aHen ¢ AaTbl BbICTaBNeHUs cyeTa-hakTypbl

Bce n3ameHeHusi coxpaHeHbl

www.cargofloor.com - info@cargofloor.com - 0031-524593900




	Alle tekeningen.pdf
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View4
	Drawing View5

	10 EV50000-CF-239_0.pdf
	Sheet1
	Drawing View3


	09 EV50000CF-238(2025-05-15).pdf
	Sheet1
	Drawing View4
	Drawing View5


	08 EV50000-CF-226(2025-05-15).pdf
	Sheet1
	Drawing View3


	07 EV50000-CF-225(2025-05-15).pdf
	Sheet1
	Drawing View2
	Drawing View3


	06 EV50000-CF-228(2025-05-15).pdf
	Sheet1
	Drawing View3


	05 EV50000-CF-227(2025-05-15).pdf
	Sheet1
	Drawing View1
	Drawing View2


	04 EV50000-CF-224(2025-05-15).pdf
	Sheet1
	Drawing View9
	Drawing View10


	03 EV50000-CF-223_0.pdf
	Sheet1
	Drawing View1
	Drawing View7


	02 EV50000-CF-222_0.pdf
	Sheet1
	Drawing View1
	Drawing View2






